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Year 3 - Autumn Block 2 — Determiners

Recognising Determiners
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Infroduction

Circle the possessive determiners below.

her that
this their

some many
his those
each my

CLASSROOM 327
XA F LA AT =
© Classroom Secrets Limited 2018



e ——
Infroduction

Circle the possessive determiners below.

ther) that
‘ this

some many

@ those
each @
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Varied Fluency 1

Circle the word that could be used as a determiner.

SO four them
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Varied Fluency 1

Circle the word that could be used as a determiner.

SO them
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Varied Fluency 2

Would these nouns need ‘a’ or ‘an’ as their determiner?

____ banana
_____grape

____apple
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Varied Fluency 2

Would these nouns need ‘a’ or ‘an’ as their determiner?
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Varied Fluency 3

Underline the determiner in the sentence below.

We have been to this park before.
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Varied Fluency 3

Underline the determiner in the sentence below.

We have been to this park before.
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Varied Fluency 4

Add the most suitable determiner to the sentence below.

There are precisely eggs in the nest.

this SiX many
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Varied Fluency 4

Add the most suitable determiner to the sentence below.

There are precisely six eggs in the nest.

this ). ¢ many
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Application 1

Chloe thinks she has used the correct determiner in her sentence.

Cody took out you glasses
from the fifth drawer.

Rewrite her sentence with the correct determiner.
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Application 1

Chloe thinks she has used the correct determiner in her sentence.

Cody took out you glasses
from the fifth drawer.

Rewrite her sentence with the correct determiner.

1 Various answers, for example: Cody took out his/her/the/your
glasses from the fifth drawer.
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Reasoning 1

Elouise thinks that she has underlined the determiner in the sentence
below.

There are six swans swimming in
the lake.

Is she correct? Explain your answer.
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Reasoning 1

Elouise thinks that she has underlined the determiner in the sentence
below.

There are six swans swimming in
the lake.

Is she correct? Explain your answer.

| No, Elouise is incorrect because...
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Reasoning 1

Elouise thinks that she has underlined the determiner in the sentence
below.

( Y
There are six swans swimming in

the lake.

\. J

Is she correct? Explain your answer.

1 No. Elouise is incorrect because the determiner is six. Six comes
before the noun and determines how many swans there are.
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Reasoning 2

If you replace the word ‘ten’ for ‘many’ in the sentence below, will
the sentence still make sense?

There are ten sausages
sizzling in a pan.

Explain your answer fully.
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Reasoning 2

If you replace the word ‘ten’ for ‘many’ in the sentence below, will
the sentence still make sense?

There are ten sausages
sizzling in a pan.

Explain your answer fully.

The sentence would still make sense because...
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Reasoning 2

If you replace the word ‘ten’ for ‘many’ in the sentence below, will
the sentence still make sense?

There are ten sausages
sizzling in a pan.

Explain your answer fully.

The sentence would still make sense because ‘many’ and ‘ten’ are
both quantifying determiners. They both express the quantity but
‘many’ is less specific.
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